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Chemistry

1. Assertion (A) Atoms with completely filled and half-filled

subshells are stable. 

Reason (R ) Completely filled and half filled subshells have

symmetrical distribution of electrons and have maximum

exchange energy. 

The correct answers is

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uEebkKr3ZyXc


A. (A) and (R ) correct, (R ) is the correct explanation of (A)

B. (A) and (R ) are correct (R ) is not the correct explanation of

(A)

C. (A) is correct but (R ) is not correct

D. (A) is not correct but (R ) is correct

Answer: a

Watch Video Solution

2. The element with the electronic configuration

 is

A. Cu

B. Ca

C. Cr

1s22s22p63s23p63d104s1

https://dl.doubtnut.com/l/_uEebkKr3ZyXc
https://dl.doubtnut.com/l/_oEhMIDo90ycc


D. Co

Answer: a

Watch Video Solution

3. Among the following the isoelectronic specie (S) is/are 

(i)  


(ii)  


(iii) 

A. (i) and (ii)

B. (i), (ii) and (iii)

C. (ii) and (iii)

D. (i) and (iii)

Answer: d

O2 − , F − , NA+ , Mg2 +

Na+ , Mg+ , AI 3 + , F −

N 3 − , O2, F − , Ne

https://dl.doubtnut.com/l/_oEhMIDo90ycc
https://dl.doubtnut.com/l/_5uHIRcXnknPa


Watch Video Solution

4. What is the atomic number of the element with symbol Uus?

A. 117

B. 116

C. 115

D. 114

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_5uHIRcXnknPa
https://dl.doubtnut.com/l/_c4G3Sr8ipMRV


5. Match the following 

A. iv,ii,I,iii

B. iii,v,ii,iv

C. iii,v,ii,i

D. ii,iv,iii,v

Answer: c

Watch Video Solution

List I List II

A. PCI3 i. square planar

B. BF3 ii. T-sphere

C. CIF3 iii. Trigonal pyramidal

d. XeF4 ivSee-saw

v. Trigonal planar

6. The order of covalent character of KF, KI

https://dl.doubtnut.com/l/_RTTHowxARQd5
https://dl.doubtnut.com/l/_rzJLnMrVSLZU


A. KCI lt KF lt KI

B. KI lt KCI lt KF

C. KF lt KI lt KCI

D. KF lt KCI lt KI

Answer: d

Watch Video Solution

7. If the kinetic energy in j, of  (molar mass ) at

T (K) is X, the kinetic energy in j , of  (molar mass = 32 g 

) at the same temperature is

A. x

B. 2x

C. 

CH4 = 16gmol− 1

O2 mol− 1

x2

https://dl.doubtnut.com/l/_rzJLnMrVSLZU
https://dl.doubtnut.com/l/_LTMWOYZuZE2K


D. 

Answer: a

Watch Video Solution

x

2

8. The given figure shows the maxwell distribution of molecular

speeds of a gas at three different temperature  and .

The correct order of temperature is 

A. 

T1, T2 T3

T1 > T2 > Ta

https://dl.doubtnut.com/l/_LTMWOYZuZE2K
https://dl.doubtnut.com/l/_Uy9BzOsH33nH


B. 

C. 

D. 

Answer: d

Watch Video Solution

T1 > Ta > T2

T3 > T2 > T1

T2 > T3 > T1

9. In Haber's process 50.0g of  [g] and 10.0 g of  [g] are

mixed to produce  [g]. What is the number of moles of 

[g] formed?

A. 3.33

B. 2.36

C. 2.01

D. 5.36

N2 H2

NH3 NH3

https://dl.doubtnut.com/l/_Uy9BzOsH33nH
https://dl.doubtnut.com/l/_AuCb96RSwfWk


Answer: a

Watch Video Solution

10. The following reaction occurs in acidic medium 

 


what is the equivalent weight of ? 


[Molecular weight of ]

A. 79

B. 31.6

C. 158

D. 39.5

Answer: b

Watch Video Solution

KMnP4 + 8H + 5e− → K +Mn2 + + 4H2O

KMnO4

KMnO4 = 158

https://dl.doubtnut.com/l/_AuCb96RSwfWk
https://dl.doubtnut.com/l/_Rf3icS7kTrU9


11. Given

 What

is the standard enthalpy of formation of  gas ?

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

N2(g) + 3H2(g) → 2NH3(g), ΔrH
θ = − 92.4kJmol− 1

NH3

−92

+46

+92

−62

12. Which one of the following is correct?

https://dl.doubtnut.com/l/_Rf3icS7kTrU9
https://dl.doubtnut.com/l/_vdZDCpMWSo4z
https://dl.doubtnut.com/l/_rkghqbbOfzTW


A. The equilibrium constant  is independent of

temperature

B. The value of  is independent of initial concentrations of

reactant and products

C. At equilibrium, the rate of the forward reaction is twice the

rate of the backward reaction

D. The equilibirum constant  for the reaction 

 is 

Answer: b

Watch Video Solution

(K0)

K0

(Kc)

Ni(s) + 4CO(g) ⇔ Ni(CO)4(g) ([Ni(CO)4)]
)

[CO]

13. pH of an aqueous solution of  isNH4CI

https://dl.doubtnut.com/l/_rkghqbbOfzTW
https://dl.doubtnut.com/l/_vgmPuPVDFH5V


A. 7

B. gt 7

C. lt 7

D. 1

Answer: c

Watch Video Solution

14. What is the change in the oxidation state of Mn in the

reaction of  with  in acidic medium?

A. 

B. 

C. 

D. 

MnO
−
4 H2O2

7 → 4

6 → 4

7 → 2

6 → 2

https://dl.doubtnut.com/l/_vgmPuPVDFH5V
https://dl.doubtnut.com/l/_ObQsvRTqyfm6


Answer: c

Watch Video Solution

15. Which one of the following will not give flame test?

A. Ca

B. Ba

C. Sr

D. Be

Answer: d

Watch Video Solution

16. Which one of the following forms a basic oxide?

https://dl.doubtnut.com/l/_ObQsvRTqyfm6
https://dl.doubtnut.com/l/_MAYVxnFlpf3l
https://dl.doubtnut.com/l/_I9wy77nUyllW


A. B

B. TI

C. AI

D. Ga

Answer: b

Watch Video Solution

17. The gas produced by the passage of air over hot coke is

A. carbon monoxide

B. carbon dioxide

C. producer gas

D. water gas

https://dl.doubtnut.com/l/_I9wy77nUyllW
https://dl.doubtnut.com/l/_QRobdXu3dBNa


Answer: c

Watch Video Solution

18. In environmental chemistry,the medium which is affected by a

pollutant is called as the …….

A. sink

B. slag

C. solvent

D. receptor

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_QRobdXu3dBNa
https://dl.doubtnut.com/l/_Yj5zJdSJ6WXp


19. The hybridisation of each carbon in the following compound

respectively is 

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

CH3 −

O

∣ ∣

C − CH2 − CN

sp3, sp2, sp3, sp

sp3, sp3, sp2, sp

sp3, sp, sp3 ,sp2

sp3, sp2, sp, sp3

20. The product Z of the following reaction is 

H3C ≡ CH
2HBr

−−→ Z

https://dl.doubtnut.com/l/_NYVtnkeZbGCc
https://dl.doubtnut.com/l/_Hzc2nb4cPth9


A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

H3CH2CHBr2

H3CBr2CH3

H3CHBrCH2Br

BrCH2CH2CH2Br

21. Identify X and Y in the following reaction sequence 

A.  

B.  

C.  

X
Zn

−−→
O3

To
Zn .H2O

[CH3]2CO + CH2O

(CH3)2C
∣
Br

HCH3 CH3CH = CHCH3

(CH3)2CHCH2Br CH3CH = CHCH3

(CH3)2CBrCH2Br (CH3)2C = CH2

https://dl.doubtnut.com/l/_Hzc2nb4cPth9
https://dl.doubtnut.com/l/_fxqHa7QhE3T9


D.  

Answer: c

Watch Video Solution

(CH3)2CHCHBr2 (CH3)2C = CH2

22. The packing efficiency of simple cubic (sc.) body centred cubic

(bcc) and cubic close packing (ccp) lattices follow the order

A. bcc lt ccp lt sc

B. ccp lt bcc lt sc

C. sc lt ccp lt bcc

D. sc lt bcc lt ccp

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_fxqHa7QhE3T9
https://dl.doubtnut.com/l/_2YsvFaHQIIiS


23. The experimental depression in freezing point of a dilute

solution is 0.025 K. if the van,t hoff factor (i) is 2.0 the calculated

depression in freezing point (in K) is

A. 0.00125

B. 0.025

C. 0.0125

D. 0.05

Answer: c

Watch Video Solution

24. The molality of an aqueous dilute solution containing non-

volatile solute is 0.1 m. What is the boiling temperature (in ). ∘ C

https://dl.doubtnut.com/l/_d6cJen3ZzA4H
https://dl.doubtnut.com/l/_PFgDCCps70q0


of solution? (Boiling point elevation constant,

 boiling temperature of water )

A. 100.0052

B. 100.052

C. 100

D. 100.52

Answer: b

Watch Video Solution

kb = 0.52kgmol− 1K = 100. ∘ C

25. Which one of the following is correct polt of  (in S 

) and  (in mol/ ) for KCI solution? 

∨m

cm2mol− 1 √C L1 / 2

[y = ∨m , x = √C]

https://dl.doubtnut.com/l/_PFgDCCps70q0
https://dl.doubtnut.com/l/_lOxKxXWlZzeT


A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_lOxKxXWlZzeT


26. For the reaction




If, 

A. 0.01

B. 0.3

C. 0.03

D. 0.005

Answer: c

Watch Video Solution

5Br(aq) + BrO−
3 (aq) + 6H + (aq) → 3Br3(aq) + 3H2O(l)

− = 0.05molL− 1min− 1, − ∈ molL− 1min− 1is
Δ[Br]

Δt

Δ[BrO3]

Δt

27. Which one of the following is an emulsion?

https://dl.doubtnut.com/l/_RFMFMwWd0WHE
https://dl.doubtnut.com/l/_CIrnmXWBj7Zd


A. milk

B. soap lather

C. butter

D. vanishing cream

Answer: a

Watch Video Solution

28. Copper matte contains

A. 

B. 

C. 

D. 

Cu2O, Cu2S

Cu2, O, FeO

Cu2S, FeS

Cu2S, FeO

https://dl.doubtnut.com/l/_CIrnmXWBj7Zd
https://dl.doubtnut.com/l/_RgxcCiC2ePqB


Answer: c

Watch Video Solution

29. X reacts with dilute nitric acid to form laughing gas . What is

X?

A. Cu

B. 

C. 

D. Zn

Answer: d

Watch Video Solution

Pa

Sa

https://dl.doubtnut.com/l/_RgxcCiC2ePqB
https://dl.doubtnut.com/l/_2TP5JECfnLyv


30. Xenon reacts with fluorine at 873 K and 7 bar to form .

In this reaction, the ratio of xenon and fluorine required is

A. 

B. 

C. 1 : 3`

D. 

Answer: a

Watch Video Solution

XeF4

1: 5

10: 1

5: 1

31. Which of the following metal ions has a calculated magnetic

moment value of  BM ?

A. 

√24

Mn2 +

https://dl.doubtnut.com/l/_uMf851iT9NKG
https://dl.doubtnut.com/l/_ePikvoDgNMH2


B. 

C. 

D. 

Answer: b

Watch Video Solution

Fe2 +

Fe3 +

Co2 +

32. Which one of the following does not exhibit geometrical

isomerism ?

A. Octanedral complex with formulaa 

B. Square planar complex with formula 

C. Tetrahedral complex with formula [M A B X L]

D. Octahedral complex with formula 

[MX2L4]

[Mx2L2]

[MX2(L − L)2]

https://dl.doubtnut.com/l/_ePikvoDgNMH2
https://dl.doubtnut.com/l/_iKlYNXwJVzUS


Answer: c

Watch Video Solution

33. The poly dispersity index (PDI) of a polymer is (  = weight

average molecular mass and  number average molecular

mass)

A. the product of  and 

B. the sum of  and 

C. the difference between  and 

D. the ratio between  and 

Answer: d

Watch Video Solution

¯̄̄ ¯̄¯Mw

¯̄̄ ¯̄̄Mn

¯̄̄ ¯̄̄Mn
¯̄̄ ¯̄¯Mw

¯̄̄ ¯̄̄Mn
¯̄̄ ¯̄¯Mw

¯̄̄ ¯̄¯Mw
¯̄̄ ¯̄̄Mn

¯̄̄ ¯̄¯Mw
¯̄̄ ¯̄̄Mn

https://dl.doubtnut.com/l/_iKlYNXwJVzUS
https://dl.doubtnut.com/l/_wudTOiCfbMj2
https://dl.doubtnut.com/l/_t43A08c4e6cr


34. Hormone that maintains the blood glucose level within the

limit is

A. thyroxine

B. insulin

C. testosterone

D. epinephrine

Answer: b

Watch Video Solution

35. Chloroxylenol is an example of …….

A. antiseptic

B. antipyrietic

https://dl.doubtnut.com/l/_t43A08c4e6cr
https://dl.doubtnut.com/l/_eT5x7Ef01yu2


C. analgesic

D. tranquiliser

Answer: a

Watch Video Solution

36. Which one of the following has highest boiling point?

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

H3CH2CH2CI

(H2C)2CHCH2CI

(H3C)3CI

H3CH2C
∣
CI

HCH3

https://dl.doubtnut.com/l/_eT5x7Ef01yu2
https://dl.doubtnut.com/l/_5AKdINmi4oWG


37.  aspirin +  


Identify X and Y from the following

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

X + Y
H +

−−→ H3COOH

https://dl.doubtnut.com/l/_5AKdINmi4oWG
https://dl.doubtnut.com/l/_W80EJyVxr0Q2


38.  

What is the name of the above reaction ?

A. rosenmund

B. williamson

C. stephen

D. Kolbe

Answer: c

Watch Video Solution

R − CN
( i )SaCI2 +HCI

−−−−−−−−−−−−→
( ii )H3O

+
R − CHO

https://dl.doubtnut.com/l/_F7EMCL4eTOst


39. Consider the following reaction, 

 


What are the structure of Y and Z?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_taqBx9x7Fxt6


Answer: d

Watch Video Solution

40. What is the strongest among the following?

A. 

B. 

C. 

D. 

H3CNH2

https://dl.doubtnut.com/l/_taqBx9x7Fxt6
https://dl.doubtnut.com/l/_ZyhBJm4jz7Q7


Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_ZyhBJm4jz7Q7

